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Instructions :

ENGLISH VERSION

(1) Figures to the right indicate full marks.

(2) Necessary calculation is a part of answer.

1 X and Y were partners sharing Profits and Losses as 3:1. 20

They agreed to amalgamate as on 315t March 2008 with

Y and Z who carried on similar business sharing profits and

losses as 2:1 and form a new firm XYZ and Co. Where they

would share Profits and Losses in the ratio 3:2:1.

The Balance Sheets of both the firms as on 31-3-2008

were as under :

Liabilities XY YZ | Assets XY YZ
Rs. Rs. Rs. Rs.
Capital - X 2,40,000
Y 1,60,000 | 2,00,000 [ Building 50,000
Z 1,00,000 | Machinery | 1,50,000 | 1,60,000
Reserves 50,000 1,50,000 | Furniture 20,000 6,000
Creditors 1,20,000 | 1,16,000 | Stock 1,20,000 | 1,40,000
Due to X Debtors 1,60,000 | 2,00,000
and Y firm 1,00,000 | Cash in
Bank loan 80,000 hand 30,000 90,000
Cash in
Bank 20,000 10,000
Due from
YZ firm 1,00,000
Advances 60,000
6,50,000 | 6,66,000 6,50,000 (6,66,000
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The amalgamated firm took over the two firms on the

following terms :

M

(2) Machinery of X and Y

Rs. 2,00,000 and Rs. 2,25,000.

3)

Building of X and Y firm was valued at Rs. 1,00,000.

and Y and Z were valued at

Goodwill valued at Rs. 50,000 and Rs. 41,000 of X and

Y and Y and Z respectively, but goodwill a/c not appear
in the books of XYZ and Co.

4)

Partners of the new firm would bring necessary cash to

pay others partners to adjust their capital according to

the new profits and losses sharing ratio.

Show journal entries in the books of XYZ and Co. and

prepare the Balance Sheet of the new firm as on 31-3-2008.

OR
1 Two firms AB and CD the Balance Sheets as 20
on 31-3-2006 :
Liabilities AB CD | Assets AB CD
Rs. Rs. Rs. Rs.
Capital - A 40,000 Building 60,000
B 20,000 Plant 25,000
C 50,000 | Goodwill 10,000 20,000
D 30,000 | Vehicles 20,000 10,000
Gen. Reserve 10,000 5,000 | Debtors 35,000 20,000
Creditors 40,000 20,000 | Cash 35,000 15,000
Bank O.D. 5,000 5,000
Bank Loan 10,000 15,000
1,25,000 |1,25,000 1,25,000 |1,25,000
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Firms decided to amalgamate as on 1-4-06 at following

conditions :

(1) New firm will not purchase vehicles and debtors, building
at Rs. 1,00,000, plant at Rs. 50,000 and agreed to pay

creditors.

(2) New firm will not take computer of CD Rs. 20,000 which

was not recorded in account book.
3) Goodwill Rs. 30,000 to each firms.

(4) Total capital of new firm Rs. 2,40,000 each partner

equally.
Prepare :

(@) Necessary accounts in accounts books of both old

firms.

(b) Balance Sheet of new firm.

2 Ayushi of Ahmedabad sent 500 toys each of Rs. 400 to 20
Mitesh of Mumbai for consignment. The proforma invoice
so as to get profit of 20% on invoice price. She paid

insurance Rs. 5,000 and freight Rs. 8,000.

Ayushi drew a bill worth Rs. 1,00,000 having
maturity period of 3 months, which was accepted by
Mitesh, the bill discounted 12% after 1 month. Mitesh
is entitled to get 7% commission and 2% del credere
commission.
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Mitesh paid transport expense Rs. 1,000, insurance
Rs. 2,000, advertisement Rs. 500. Because of fire in the
godown of Mitesh 50 toys were destroyed. Insurance Co.
accepted the claim for Rs. 15,000. Mitesh sold 300 toys for
Rs. 600 each by cash. 100 toys for Rs. 650 by credit sales

to Raju.

Prepare necessary accounts in the books of Ayushi.
OR

Mahavir of Morbi consignment 100 transistor sets costing
Rs. 500 each to Kumar of Keshod. The invoice proforma was
made at Rs. 600 per set. Kumar was entitled to commission
@ 7%% on sales plus 2%% del credere commission and 10%
of any excess price realized over and above invoice price.
Kumar was to bear all the expenses incurred after the goods
reached his godown. While sending the goods Mahavir paid
Rs. 1,500 as a forwarding expenses and insurance. In transit
10 transistor sets were damaged and Mahavir received
Rs. 4,000 from the insurance company. Kumar took the
delivery of remaining transistor sets paying Rs. 4,500 as
freight, cartage etc. Kumar sold 70 transistor sets at Rs. 800
each set, 30 of them on credit. Out of which the proceed of
3 transistor sets could not be recovered because of insolvency

of customer. He paid Rs. 5,000 as storage and selling

20
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expenses. Kumar sent a bankdraft for the settlement of the
amount due to Mahavir.

Prepare Consignment Account and Kumar's Account in
the books of Mahavir and Mahavir's Account in the books

of Kumar.

3  Deepak and Krunal entered into a joint venture to 15
purchase and sell new year gifts. They agreed to share
profits and losses equally. Deepak purchased goods
worth Rs. 90,000 and drew a bills of exchange upon
Krunal for Rs. 60,000 at 3 months. He got the bill
discounted 10% per annum. The various transactions

were as follows :

(1) Deepak paid Rs. 600 for freight, Rs. 1,800 for sales

commission and Rs. 1,200 for advertisement.
(2) Krunal spent Rs. 600 for travelling expenses.

(3) Deepak sold some of the goods for Rs. 63,960 and
allowed discount of Rs. 1,000 for defective goods
he sold.

4) Krunal sold some of the goods for Rs. 45,040.

The unsold goods worth Rs. 3,600 and Rs. 5,400 were
taken by Deepak and Krunal respectively after adding
gross profit at the rate earned on sales made. The discount
paid for discounting the bills of exchange is to be considered
as an expenses of joint venture.
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Show :

(1) Joint Venture Account and Krunal's Account in the

books of Deepak.

(2) Joint Venture Account and Deepak's Account in the
books of Krunal.

OR

3 From 1-4-2013 X, Y and Z entered into joint venture to 15
share profit loss into the ratio 50%, 30% and 20%. They
deposited Rs. 12,00,000 in joint bank account as profit-loss

ratio :

Following expenses paid from joint bank account :

Rs.
Materials .....ooveeneieeeieeieeiee. 3,40,000
Labour......cooovviiiiiiiiieaeea. 1,80,000
Advertisement expenses.............. 10,000
Machines .......oooovveeieviiiiiiaeaeenn.. 1,30,000
Rent ..o, 24,000
Printing expenses .........ccccccceeennnn... 8,000

Expenses paid by partners :
(1) X.....brought Laptop of Rs. 48,000.
(2) Y....brought vehicle of Rs. 96,000.

3) Z .....paid insurance premium of Rs. 12,000.
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A bank cheque of Rs. 11,90,000 a 85% of contract price

and rest of the amount received as Indian Government Bonds
at Rs. 10,000 discount, which were distributed by partners

in their profit and loss ratio.

After completing contract, following arrangement were

made :

(1) Y....took over laptop at 20% less price.

(2) X....took over excess materials at Rs. 20,000
3) Z.....took over vehicle at 60% price

Accounts were settled among partners.

Prepare :

(1) Joint Venture Account

(2) Joint Bank Account

(3) Capital Accounts of Partners

4) Indian Govt. Bonds Account

4 A, BandC are partners of a firm sharing profit and loss in 15
5:3:2 proportion. On 1-4-06 they have taken joint life policy
of Rs. 50,000 with an annual premium of Rs. 4,000.

Their accounting year ends on 315t March of each year.
A died on 28-2-2010 and Life Insurance Co. paid policy
amount with bonus amount Rs. 10,000 on 31-3-2010.

Surrender value of policy is as under :

2006-07........... Zero
2007-08........... 10% of total premium paid
2008-09........... 20% of total premium paid

Prepare dJoint Life Insurance Policy Account and Joint

Life Insurance Policy Reserve Account for all the years.

OR
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Jigar, Jaldeep and Pradeep are partners sharing profit

and loss in proportion of 2:2:1. On 1-1-2000 they have taken
a Joint Life Insurance Policy for Rs. 3,00,000. Yearly premium
was Rs. 24,000. In books of firm policy account is shown at

surrender value.

Accounting year is ending on 315 December and

surrender value for different years :

2000................ Zero

2001 ................ 10% of total premium paid.
2002................ 20% of total premium paid.
2003 ................ 30% of total premium paid.

Pradeep died on 1-2-2004 and insurance company paid
Rs. 3,20,000 including bonus on 29-2-2004.

Prepare :
(1) Joint Life Insurance Policy Account and

(2) Joint Life Insurance Policy Reserve Account.

15
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